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ENGLISH

Read the following Passage.

a hungarian bio-chemist born in Budapest in 1893, His eseqny
hig

Albert Szent-OvOorgyr was
m the adrenal gland tissues of ox, w

involved isolating an organic acid, a substance fro :
later named it ‘hexuronic acid’. He experimented by injecting it into guinea pigs whigh he
affected by scurvy, a disease which was actually supposed to be cured by Vitamin-C, T:%
surprise, this hexuronic acid cured scurvy in guinea pigs He then became sure thy g
Vitamin-C and hexuronic acid were one and the same. He later discovered that he ot
acid can also be available and extracted from lemons, Oranges and cabbages. One day, “’hﬂtﬂ%
he sat over the dining table for having his supper, his wife served him paprika, which he , °
sot fond of earlier. Paprika is ground chilli powder used in different foods to enhan t:
spicy and tangy flavor of various foods depending upon the individual tastes. Thoug ke
didn’t like it in particular, he thought of using it for future experiments. His storage of
Hexuronic acid has been depleting fast, and extracting it from the adrenal glands of Oxen,
from lemons and oranges wasn't that easy. Then, as he experimented further, he was
1o see that the paprika is doing wonders in curing scurvy when he mnjected it into Vitamip.g
deficient guinea pigs. That expanded his scope of experiments with Paprika. Albert Szeng
gyorgyi was awarded the Nobel Prize in 1937 for his discovery and it was named

‘Paprika Prize’, by the Times.
Now answer the followi ions:- O (1-5
1. Albert Szent — Gyorgyi was a/an
A) Engineer B) Astrologer C) Bio-chemist D)) Philosopher

2 Hexuronic acid was extracted from

A) Lemon B) Orange C) Cabbage D) All of the above

3 What is the spice Paprika?

A)Raw chilli B) Grinded chilli  C) Lemon with chilli D) Mix of all.

4. Gyorgyigota chance to continue his experiments more with

A) Lemon B) Paprika C) Vitamin- C D) B&C
BPC SETA L
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19.

I am amagzed
A) At

~— You, Victonia. (choose the correct Preposition)
B) with C) for D) about

Lets go for a walk_ This statement is

A) Demanding B) Informing C) Suggesting D) Warning

He started early. He could not catch the train. (Choose the sentence which coveys the
same meamng)

A) Unless he started early, so he caught the train
B) As he started early, So he could not catch the train.
C) ﬂmugh he started l:ﬂ.ﬂ:,.r, he could not catch the train.

D) In spite of starting early, he caught the train.

. A letter to a publisher is a

A) Personal letter  B) Official letter C) Informal letter D) Business letter.

Q) (23-25) Each statement is divided into four parts . Find the part which has an error.

23

=1

24,

25,

26.

27.

28.

If/ | had Wi]’.'lgs / Twould / have flied .
A B e D
Residential colleges / are the most/ best / prestigious nstitutions in the state.
A B C D
We were / having lunch / when the post man/ had armved.
A B C D

Choose the pair which is pronounced in the similar way
A) Rough, Plough B) Cough. bough C) Laugh, Stuff _D) Foot, wool.
She all the letters before she left for Delhi. (Choose the correct verb form)
A) Posted B) has posted () had posted D) will post

1 was one of the children born to Eall and handsome parents

(Find the silent letter of the underlined word)
5
BiPC SETA
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) st W npplmmrml

wose the correct l-'ﬂ"l""':“""l 12) yet

u'l'h. [-7'"] ﬁ“__

13) and

_ pwill drop you at the Station,
w0 | am getting late for the meeting _—— \

i -orrect crmjuncllﬂlﬂ - J
{choose the coIre - "wmﬁ}m ) '['Imugh [}} ﬂﬂtther .iv.)

NR AL

\) However

Q.No. (31-35 ) Complete the pas | i
Each blank is pumbered an \

Choose the correct answer.

One day. (31 baby camel Was chatting with her moqy
mother, "Why do we have humps, round feet, and long eyela|

¥ ———

Drawing a deep breath, the mother explained, "Our humps store water This

survive long JoUITIEYS in a desert (33)
’ d. And, our long
comfortably on san | g eyelashes 2

water 1s scarce. Our roung i

i o :3'“' e
(35) ~ dustand sand, especially during sandstorms."
11, A)the B)an C)a D) no article
12 A s B) her C) them D) her
33, A) which B) who C) where D) when
|7,
4. A)walked B) walks C) walk D) walking
3
8 .. ) B) from C)in D) for

3. An unclear statement is called

A) Versatil _ ‘
ile B) Incomrigible  C) Ambiguous D) Bi-lingus!

Tmm BRC SETA

Scanned by TapScanner



37. The Chief says, “ They are our neighbors”
(Choose the correct indirect speech)
A) The Chief says that they are our neighbors
B) The Chief says that they were our neighbors
C) The Chief said that they are our neighbors
D) The Chief said that they were our neighbors
38.  Applicants must have a clean driving licence,
(Choose the correct meaning for the underlined one)
A) Complete B) Tidy
C) Neatand fsir D) Never done anything wrong
39. The gang of terrorists _ to the army. (choose the correct phrasal verb)
A) Broke down  B) Put out C) Gave in D) turned up
40. Bayaji was building a storyed house.
(choose the correct passive voice).
A) A Storyed house is being built by Bayaji.
B) A Storyed house was being built by Bayaji.
C) A Storyed house was built by Bayaji.
D) A Storyed house has been built by Bayaji.

The film industry is expanding in leaps and bounds.

(Choose the meaning for the idiom)
B) Successfully

41.
A) Clearly C) Rapidly D) far and wide
42. Mayabazar is the greatest Indian film
(Choose the correct positive degree)
A) Mayabazar is greater than any-other Indian film
B) Mayabazar is greater than many other Indian films
C) Very few Indian films are as great as Mayabazar

D) No other Indian film is so great as Mayabazar

BIPC SET A 5
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43,
Choose the correct sentence from the following:

AY One of my friends is in the USA  B) I have two Brother-in-1aws

C) Suresh is my older brother, D) Latha is my cousin sister.

44. Narayana Murthy was brighter than other students.

(Choose the correct one which gives the same meaning)

A) Narayana Murthy was the brightest of all other students
B) Other students are not brighter than Narayana Murthy
C) Other students were not so bright as Narayana Murthy
D) Other students are not so brighter as Narayand Murthy

45. Choose the simple sentence from the following

A) He worked hard and passed in the exam.

B) She is poor but honest
C) As | am ill, I cannot attend the school

D) Due to heavy rain, the match 1s postponed

()(46-50) Read the following poem
A Bird, came down the Walk -
He did not know [ saw —
He bit an Angle Worm in halves
And ate the fellow, raw,
And then, he drank a Dew
From a convement Grass -
And then hopped sidewise to the Wall
To let a Beetle pass —
He glanced with rapid eyes,
That hurried all abroad -
They looked like frightened Beads, [ thought,
He stirred his Velvet Head. -
| ike one in danger, Cautious,
1 offered him a Crumb,
And he unrolled his feathers,
And rowed him spfter Home -

EPC SETA
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Now Answer the following questions

46.

47

48,

49.

50,

He stirred his Velvet Head... He refers to g=2 8y

A) The Poet B) The worm C4 The bard ) The man
The poet has offered him with a/an e

A) Bread B) Crumb C) Milk D) Fish
They looked like frightened Beads, | thought

(This sentence is an example for)
A) Simile B) Metaphor () Personification D) Irony

The opposite word for *cautious”

A) Careful B) Mind ful () Reckless D) Courageous
He drank a from the convenient grass,

A) Juice B) Honey C) Rain water D) Dew

BRC SETA .
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BiPpC SETA

BIOLOGICAL SCIENCE

Identily the incorrect pair

(A) I:'l'h‘.‘l‘m Trypsin (B) Liver- Lipase
(€) Stomach- Pepsin (DY Small Intestine - Sucrase
8ol OGS 200 10 =08 Aloded
(A) Favo - 35 (B) oo - 00
(€) dpdcoo - DS (D) Dy b - A
The lung capacity of Humans is
(A) 5500 mi (B)S600 ml  (C) 5800 mi (D) 5900 mi
Srapl adodgue Faugo
(A)SS00 2obbods  (8) 5600 2obbuds
(C) 5800 Dobbecy (D) 5900 Dobbiogy
Which of the following Is not used in dialysis
A) Dialyrer B) Cellophane tubes
C) Vasopressin D) Heparin
ol OS" DA dairetil & andirfadds
A} Eccomb B) Hg'D5 Fgren
C) rahd ) i85
Bicod from supenor Vena cava flows inlo
(A) Right Atrium (B} Right Ventncle
(C) Left Atrlum (0} Left Ventricle
O deg, e4irdG Aol wocd'd DSLrRIed
(A) & sbs (B) sod ascils
(C) Do SP5 (D) e mods
Match the following
1. Fittration 8- Uraler
2. Slorage of urine b- Unnary bladder
3. Transport of uring .- Henle's loop
d- Glomerulus

4 Concentration of uring

Al 1-b, 2-a, 3. 40
C) 1-c, 2-b, 3-a, 4-d

B) 1-d, 2-b, 3-a, 4-c
Dj 1-¢, 2-b, 3-d, 4-a
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3 Mach the following

1. Xylom
a- Transpon of food
im b Absorption of water
4. Root Haks T
A 14,25 3¢ 4d B) 1-¢, 2-b, 3-a 44
C) 1€ 24, 3a, &b D) t-a 2., 3-b, 4-d
oSO mooocad
| ordodn a - udhg RdDoe
2 D dogren h - o 700
3 O doaeus ¢ = i dorp
4 2uruivwn d-gdydso
A) 1-a, 24, 3¢, 4-d B) 1 20, 3a 44
C) 1<, 2.4, 3a 4p D) t-a, 3¢ 3-b 44

™ T € COmect sequence of reproductive stages I the flawering plants Is
Al Gamete, rygote, embryo, Seadiing
B! Zvgote, gamete, embryo, Seedling
L) Seedling, embryo, Iygote, gamets
) Gamete, embryo, Zygote, Seedling

e Dve e’ 2305100 257 S0 284 2400
A} D Sian, Do Sisa Dotts, D B} Roodug Do, He sma, boco, 2uoud
C) 2w, Hocs, Reaiug Hus, D soo D) Das gm0, Bodo, Roaiaug Do, Suud

93 Memtify the correct pasr

A} Hewrt — meninges B) ksdney — cranium
C1 Braun - pencardium D) Lungs - pleura
P 20 folloded
AVrLoZ - Jolos B Surg bocmy - g3y
C]hm—madnnam D:ﬂ:ﬂﬂgau_@v
6 m:MMFm:dmphhnrmxﬂhﬂmmurmm
A)Coppar - T  B) Vasectamy ') Deaphragm D
; ) Oval pill
& 10,8 &8 Sate oo LS & BSase Srdaaod e
Ajenb -8 B) oyl Oy ecerply ) ng, Mfer ampey
BPC SBET A "

E
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Y Aoty the resmiadched pa
I Regenerabion - Yeast 2 Dinary fission- Baclena

1 Budding- Rharopn

AY12 By 2.3 i3 D) 123
Bol OG" 23S w0 2B
| DRc0yg - el 1 &EddG- ogdscdr '
3. Bodgaoe - pE'GD
A1z B) 2.3 C) 1.4 D) 123

K Fll.lllj . G-uﬂ_ & Lsonm
I Laon han 100 ] of encegy, the encrgy available st producers 1s

A 1000 ] B) 10000 ) C) 1 OOKA0 ] DY 1000000.J

L TUR. L s
“olre 3 100 H 6o adJordon 33 acd # Jod!

A) 1000 § B 100K ) C) 100006 3 D} 1000 )

RS ldenfily the correct statement aboul Unisexual flowers
A) They have both stamen and Pt
B) They exhibit cross pollination

C) Pea plani 15 an example
) Produces both pollen graims and ovele

2= Bort iy ded) HPRA Mfocol
A) B0 woc § o BodBR) SBA sotued B) 26" Soo Bond; A Bdrixsod
C) werd S 82224 aorsrsn D) oidaupes, sodo SedD 6043 3508

BE Sod erosion pEuts due 10

A) Deforestation B) Floods
C) Ower grazing B4 All the above
Ser g0N AP S BHOG0

A) mcipen Sdsco Bl dSSw C) dy e Joadia D*Eﬂblﬂﬂﬁ:

K7, Teeth of lion and elephant tusk are the examples of
A Vestipial organs H) Rudimentary organs
) Anulogous organs D) Homologous organs

S0 (138), GoTren ol Daxh dore 428 aortroauw

A) s dalarey H) Jurerord Bdoiomen
) Aodrdray oo D) Doy caiinig sSadicren
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135 An obiect of size 2.5 om is kept

Tha distancs of the nt&ﬂﬂrrmirﬂpuhufﬂﬂnﬁmrnqullﬁﬂﬂﬂ

perpendicular to the

mirror. Tha size of tha image formed s
ki cj25cm np1.25em

A)S50em H)35cm

Ll St dnd PEarEils vonrr 2.5 Pods Hﬁ-ﬂﬁﬂﬁéﬁm#

&o ot S

Tl Sieieth Ertiot aolse Bolor S0Srw0.

A) 50cm B} 35 cm

136 Which of the following statements is corract about Bn AquBoLs

a basa?

c)25cm D) 1.25em
solution of an anid and of

the pH, weaker the acid

(i} H tha pH, stronger the acid (i) Higher
peee the base {MJLMHHFI-LMHBIH

(i) Lower the pH, strongar
A) (i) and [i) B8)
C) (i) and (v} D)

(ki) mnd (i)
() and (iv}

o, §6 eoordoros Sooofiol ABEE e
(1) pH Sems Tofl sk el SE0

(#) pH Dexd RONS BPob el 8755

(il) pH Deas 6 ed md Sesto &G

(iv) pH &ly5 e 20 S 8B
(A} (1) Zobaiz (i) (B) (W) =tam (iH)
(Y1) bt () (D) (i) st (iv)

137 During tha pmpnrmbmufr_mdrﬂginﬁﬂnriﬂa gas on a humid day. the gas Is usually

passad through the guand tube
taken in the guard tube s o
A) sbsorb the evolyed gas

B) moistan the gas

containing calcium chioride The role of calaium chionds

C) absorb moksture from the gas
D) absorbGf jons from the evolved gas

O A o JEET o B

4 Tetal PBE cdadb el dotecr o s

urlldﬁ-:;ﬂﬂ i e & S, & BB’ sQave FOE s

{ﬁaﬂ.*ﬂ-_r._ﬁ::- sl Wit
(CYsrcius 't did firede

(B) v Burr dutuds
(D) ru=efs CF wabsiin (Airodts

a8 \Which of tha following are exothermic processes?
|, Reaction of water with quick ima

i, Dilution of an atkd
iii. Evaporation of water

iv. Sublimation of camphor {crystals)

&) (iy and {it) B) (i) and (iil) C) (1) and (iv) D) (i) and (i)

gIFC LT A

Scanned by TapScanner



- = =

128. Hmmmmmmmu half of K-shell then atomic number and name of

;}hm

1, Eﬁﬂl-ﬁ"l'l

C) 13, Aluminjum Eﬁi,msmm i

K Bi6oeta Sugs o o Rong Jogeg M 85606 fie Smetio
AV 12 Blyheos B) 11-S8cko

W 1 3-oemtnnan, D) 14 - hees

123 A ray of light incident with 45° on ane of the lateral surface of an equilatsfal prism placed

on the horizantal surface of a table. the minimum deviation produced by @ prism

A) 45" B) 30° 0760° D) 90*
»
SRR 6 ot X' Aah e Simse Gl 18 Sosop 45" Bacd wod Sno S8
iﬂﬂ:&i‘ﬁ;ﬂ g el B'ao % &
) &9 B) 30* C) 60" D)%0*

130. 1Dm_i'al’| :nlr.ﬂl-nnanaDHiafuundtnhnmmptalaiynmﬁm by 8 mi of a given
solution of 4/ Hmlmﬂﬂuwﬂmmmmdﬁmm{umammunln!Hﬂiluluﬁm
(the same solution as belore) required to neutralise it will ba
A) 4 mi B)8ml C)i12mi D) 16 mi

al BI'D Bml iodso 10 M NaOM (T2l It dalERolil e NaOH |pdiergy

20Mmi r= BB G solZteth windin =2 S HOl oty Soirwo
A) 4 mi B) 8 C) 12 mi D) 16 mi

131. Asalt is dissolved.in water. The pH of this salt solution was found io be 7 by measuring
g
the pH with a universal indicator paper. The sall I8 mast likaly to be ™

51 Na.CO, B) KCI C) NH,CI D) CH,COONa

Lo dbhE ot ol TIad pH Dl Trr Iololndits. » cleds
A) Na CO, B) KCi C) NH,.CI D} CH.COONa

mpc SETA
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106. The element with highest electro — negativity belongs 1o

A) 3rd period and 171h group B) 2nd
pericd and 17th group

€} 2nd period and 16th group D) 2nd period and 18th group

OH0E com DS ES BONY doreto acla

A) 35 boaEe's 178 fehet B) 21 boabEe®y 173 b’

C) 23 boaelatn 163 finbet D) 25 boah&ES*D 188 ot

107. Statement | Posilive ion of an element has less size than its neutral atom
Statement Il - Negalive lon of an element has bigger size than the neutral atom
A) Both statements are true B) Statement | is true and Il is false

C) Statement | is false and Il is trus D) Both are false

PSSR0 -1 : ol Sretl Cords e oD g Sodracd ) ddpd ABena §00 acthils
3o -2 : ol Zoroll poordE eoel on dog Stmed S5 JiS fbdmmo SDhBOS.

AT Both [isdaren BOEED B) Socfs Soghass =58 Ay
C) 3mcas sy dodss nogss D) Bods REEID =9
108 The valance electron configuration of electron for following guantum rumbers.,
NS TR Gl R A T = |
(3!2]«a}-%]

T =9I =5y
E[l_[;l : QS ool dogo Dusdolh BARMG Jup Depide
—) BUND Dee
A) 3d" B) 3¢* C)ad' D) 3d*™

108, The impossible sel of guanium numbers for any alectron of an atom |s
|
H.ﬁn=1.l=1.m,=ﬂ,m_=+é bjn=2, 12, m=1m= -

| |
gy n=31=2m=4m=+> dn=31=0m=0,m= -

-

Al aonly B) a, b oniy C) ¢, d only D) d only

Bobole’ LE SimmBd™l O Jopln 28550 Foobo Nopm

!
an=1l=1m=0m=+3

bl | =

byn=21=2.m=1m= -

|
Ei"=3.|=1m,=1.m.“*§ din=3,1=0,m=0m= -2

A) a dmaEsh Blabmamgt Clodoimsh Djdisgs

BPC SET A CL
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BODANDBAL
| 1. acYo B Sarg o4
]
| < Sargrdy Dux dabice b- Sargrsaio
I org oo ¢~ Do
4. ®0 mao Ao Juwrdaw d- fauscoud
A} 1-b, 2-a, 3¢, 4-d B) 1-d, 2-b, 3-a, 4-¢
C) 1-¢, 20, 3-a, 4-d D) 1-¢, 2-b, 3-d, 4-a
56. Excretory organ of Roundworms (Ascaris)
A Kidney B) Flame cells
C) Renette celis D) Nephndia

Ve aves’ ( wid,6%5) DAgS wIabde
A) Surdiesmen B) apqerscren

C) 8548 gcrens D) Ao

57. This hormone deficiency causes Diabetes Insipidus

A) Insulin B) Glucagon  C) Vasopressin D) Thyroxine

& ) & S0 dUd CodrRedh BANDED SRpod

A) 2R D5 B)arers  CYoTRERS D) 208y

' b

s l?l;l::w:::gt — nff.e; Er;:‘.am C) Emolions D) Body Posture

28 0,0 Dﬁ&gﬂ 2B B0

A) ud'Sdew B) o), C) adxrren D) $68 Rdvor 2O
39 ldentify the Pimarv consumers

A) Snake and Frog B) Deer and Lion

C) Lion and Tiger D) Grasshopper and Cow

2aI0e DAARACrRD biodod

A) D0 2oboiy Sy B) 2og Dobdain »oiro
C) Doiro H8ain pd D) abckd Sofodn wap
60 Identify the incorrect pair
AY Response of plant towards light — Phototropism
B) Response of plant towards water — Hydrotropism

C) Response of plant towards Gravity- Geotropism
D'} Response of plant towards Touch- Chemotropism

208 OGS HPD 20 T8 LloSol
A) 500 Dy D), LORYEGH - SPod BRDGR0
i B) D6 Pip D), HBR0wD ~ N BB
C) MBerEgn PP J8), DERAR - MAEGRDGYe
D) m;dgngmhw—mumgm

BIPC SETA 1
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77, Thisis not the function of Placents
AY Transports oxygen 1o the
B) Transpons nutnents to the

C) Protacts embryo from the mechanical shocks
D) Disposes the waste matenals of the #r:thrw

28 Dok gy D =ey
A) oS udwSt door St B) boodd Dopruity door Sl
Enw-nmmbnaldnga D) Secod' D 3¢ Sorgruty Tuhaoed

78 Liquid poriion of the blood without clotting factors is called

A} Fibrinogen B Lymph CjPigsma ~ 0O) Seum
AGEE PO DCES A g3 orrdy wokrdh
A)pOTus B) Fogme O) & D) b0
79 Pick the odd one
A) ASHA H) Akshaya Patra  C) ART Centres D) Red Ribbon express
ol OS5 Dy PoRcr D7) xdodod
Ajerw (ASHA) B) eEat: S
C) ART Bogren D) BE Ben D b5
B0. This ia not & symptom of marasmus
A) Lean and weak B) swollen body pans
Gy Dry skin D) Diarrhoea
fob " D8 Soo D vime T
A) DB e Sorr fioteo B) #88 rrrwn &, &octo
C) Trderda oo D) Dfcrw

81 Seeds of Jatropha curcas are usad for

A) Production of prolein rich food B} Production of insacticides
C) Produciion of coffee D) Production of Bindiesal
2S00 BE'd som b 2ws) v DdTw Thorw
A) TS50 aol wrs 8o g B) 418 reiuw aond
C) 50 803 D) edrdad ao-0
82 This is nol a green house gas
Aj S0z B) CO; C)CO D) NH3
B8 SrEdrLEr Sradud) B
A) SOz B) COz C)Co D) NH3
BiPC BET A 15

e ———— T W
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808 O¢" 05 10 TS Ablocod
A) 0 - waared + (10, H) Satoren - erif esioo
C) s v deren - €O, + B D) erSlerfinh - maod + €0, 4 A

2. The Binod
vassal which cames Oxygenated blood from lungs to heart s
A) Pulmanary vein B) infenor vena cava
C) Superior vena cava D) Pulmonary artery

SO0 Aol Mot wlwh & SrEs oed) Sy 5o
A) Lpph o B) ssnyirdyd
C) &g 100 D) ndn dcud

73. The gland which acts as both endocnne and exocrine gland is

A} Thyroid B) Adrenal C} Liver D} Pancreas
O ol Do v flod e Suboi el Boddor DOERIS
A) Sorand H) edod C) s daisa D) &0

74 This is not the function of 2uxin
A) Call engation B) Cell division
C) Root differentiation Dy Phatolropiam

w0 ud S clug D8 s
A S0 Doxlcuw B) sa Does
C) S Ddano D) sv0d wiusdie

75. Identify the correct statemani aboui corpus callosum
A} It connects two cerebral hemispheres
B) It connects Atrium with Vientricle
C) It connacts coitex medulla of Kdnay
D) It connects cerabrum with cerebelium

50 Fgely hbed HYOS Gosed
A) B8 Boc Sl o Aveudy swsipducd

B) @b 8fsiy 2098d swipows

C) od Mam@mm%nauw
D) 8 Jumiye Subotu eddulds O swosed

76. This Juice converts the fats into small globules

A) Pancreatic Juice  B) Bile Juice
C) Gastric Juice D) intestinal Juice

o dio By, dorgrodu O3 0% Saupeurr Srdoguas
A) §autio B) pacne () add doo D) woddng

BIPC SETA J
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1

¥r

100

Full form of IUCN

B) Bob) 00 Srdas 05 8 gt ub ak
Q) welixb’ SEPORIE 88 ugins uh 3as
) mﬂ_‘lnﬁ-ﬂ S Dot wpal & CLW ST

Identify INCOMTect pair

A) Parssympathetic Nervous system- stimulaies salivation

B} Sympathetic Nesvous sysiem-  Decrenses blood pressure
C) Parasympathetic Nervous svstem- Contract unnary bladder
D) Sympathetic Nervous system- Accelernies heartbagy

o8 TG H0R 80 w8 Axoced

Mmﬂaﬁ“ﬁ*“&gﬂﬂmﬁ.qnm:
H]Wu&ﬂ : qhﬂaﬁw

C) BErAENO00 FAISG - Surgrtcise Holf Dodco

D) RarAsEro AISH - Drdal Ryecs Srrdy bedds

World Environment Day is celebrated on

A) June 5 B) Feb 28 C) March Z2 ) March 21
pood Dorada 830, Ky sdxplicrdy
Alars s Bjopse2s Caes, 2 D) &7 21

Find the incomect pair

-A) Biood - Heemoglobin  B) Leaf — Chiorophyl
C) Urine — Vasopressin D) Carrol = Carclenoids

BAC SETA

dod G 282 B0 T8 rLiocol

) Sargo - a5 Dlrﬁﬁﬁ-ﬂﬂ‘ﬁ;rm:ﬁj

sasdbEsASERETS

L1
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PHYSICAL SCIENCE

pey o = CH, — OH reacts with akaline KMnO, and heats to form the compound A, which
Am:mﬁmmhmmuhrmm&ﬂmmﬂﬂh ,
) Ethanof BY Ethanal, C) Formaldehyde D) Acetic acid

th"cﬂu—DHrﬁ KMnO, &* 5t wit aftots oo &% A o S50t SH2Y
FHE =2 efvitee 208 B e isdr oot B

N sgots B) agere Cryoges  D)yabeso
102 Which amang e following may be uselul to remove acidic gangue
) Cal i) i) Fe 0, ) 10,
A) Only (1) B) Both (i and () C) (i}, (i) and (i) B) Al of these
OIS ST Fulolot AMEEsn
) Cal i) Mg ih) Fe. 0, v} Si0,
Ad | Tk B) | Sbaix i I RTESTTTE S D) 22 ey

103 A caoil has 200 turns I &n inarease in, magnetic flux through one tum of call is 0.001 Wb
1 G1 sec then the maximum induced emf in the coil is
AJD2V B) 2V C) 20V D) 20000 V

200 cotg 65 o2 Bt e o Tepst 0,01 e 0,001 Wh edbimed sl Dodd, o

W et rog (hos Lyread owo ..
AIDZV 8)2 V C)20V D) 20000 V

104 Arrefomant X}’ beiangs 10 || group and another sleman) Y belongs to VIl group then the
compound formed between those elements has formuia;

) XY B) X.¥ CiXY, D)X, Y,

s -I5essl X Zaruto et~V § S0t Y dorotad 2 WL 2o Wt T
Imﬁ-ﬁgﬂr

AL XY B) XY CIXY, D)X, Y,

105, h"a'nufamhﬂﬂ,, thers s & lone pair of elactrons inlrm'mlmshalrufcmtmlam Tha
shape of moleculs
Aj Tatrabedral B} Linear G) Pyramidal D) Trigonal planar

AB, &3 oesi dud) oS sSarmde’n doby ﬁ_I_;ﬂ'LHLﬂME::\g::ﬁH ol o wgs
A) Sdgbonzn B) Al C)bageE D) dfode podapss

soc BETA -

o
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inside water will see the person to be

110 A river. Afish
person is standing on the bank of a D) like water wave

A) taller B} shorter C) original hight
20 DO o) S st avyy 0N & Do BRBOTHRD
A) Bty B) &g C)d drtpfibod D) A8 eoi®

Ny

111 me.mmg”hlﬂjmmimmmﬂml corvergent lens if its focal lﬂﬂﬂthh_)

equal to the radius of curvature of its surface .....
A} 1 B) 213 C) 3/2 D) - 32

& 3580 Sofita BONY cegoste ool SEer Tl Ssmsor aoll o Bl Saind e
Gty 3ifessy oo

A) 1 B) 2/3 C)3/2 D)- 32

112 Aconvex lens of focal length 20 cm is cut into two halves along principal axis then focal
length of each partwillbe . ... ..
A) 20 em BY 10 cm D) 60 cm
20 Ro.do. Sgiodtin o Bogrsd BLED (Herlo Joos Bo Hbprrdnee 3058° & Som

SViton st D8 Dar
A) 20 Tofn B) 10 no.&s. C) 40 wo.. D) 60 Ro.&n.

C)40.cm

For the solenoid given in the diagram, name the polarities Aand B, when the current flows

in the direction shown
A) North and south B) South and north W«-
OF West and east Frt=N

C) East and west
A
POTTUIY - Sesind” 03 02 258 Soivin af b5 Hud® A Bo §Stde Stsm

113

A) ass, b B) &im, a8g C) dird, SBw D) Sesior, drty

114, Ateacher held a pencil close to a spherical mirror and asked fou students
predict the nature of the mirror with the help of the image fnnneiu-:l in the rnEuEr 1611:":1 Sto

was erect and enlarged. The four students identified it as follows: The
1 - v H m
P ~convex In nature Q - concave in nature frect statement is

R = plane mirror S —can't be defined
Al P B)Q C)R D)S
|
|
BPC SETA -
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a8 adouctotl Memrs ddno Swots Bl eoh PO R Sbds S et doark
dﬁ:,m{fﬂﬂﬁﬂﬁunni"-':ﬁﬁnmm&m ﬁ--mﬁhmmﬂﬂﬂm

P - togrtee Q - Sered
R - 3fvsc E--ﬁmmqu.

et ShIhE Aieoedig

A) P B) O C)R D)s

115 Adrop of a liquid sample was put on the pH paper. It was observed that the colous of the.

116

117

pH paper tumed blue The liquid sampie is

A) lemon juice B) sodium bicarbonate solution

C) distilled water [3) hydrochiorc acid

et e Sdowr Dl pH ehdop Shdidut =8 LD torkth deidey biodelol. w 5o
A) Saigtiso B) ffiaho B o rdoo

C) s meo D) s FoTgo

2CH, +100, —» 8 CO, + 8 H O is not a balanced equation

Reason (X): The reactartswill not form the given produets.
Reason (Y): The coefficients are not the smallest whole numbers.

A) Both "X’ and 'Y’ are correct and ‘X is supported by Y,

B) Both ‘X’ and 'Y are correct, but ‘X' |8 nol supporied by Y
C) ‘X is correcl, but Y is incorrect.

D) X' is Incorrect, but 'Y 1s comeact

2C,H,+100, - 6CO,+8H,Q &8 %8 srdedn Slolbeo
oimo (X): S5t 20 B eive Slibeod’ sipls Bdummed SEEES.

ebwo (Y)  tomwod 635 e

A) X Sbu Y S0@ED, Hbaks YeX i poitilps.
B) X', 'Y w Aodoid e 'K @ Y poddics,

C) X sogse, ou Y SOEEE .

D) Y #8ghsa ph X Roghie e,

A current carrying circular coil has 'n’ tums. The magnetic field produced in the entire coil

Is
A) 1/n times as large as thal produced by a single turn
B) same as that produced by a single tum

C)'n"times as large as that produced Dy a single turn

Dj zero
D6 (Strod 8 Heres B gt n Din ERD Ingo dipd® whod walirypd S0,
A) &8 Sotpd’ mood vl 1/n Sy

B) 0.8 ibepe® eRoBorRl R0
C) &8 Hepe® maod oof N By Sy

D) &g

BIPC BETA
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Ha 'I'humlhlmhimdannldhplm tydrogen from dil. HClis ... .

A)Zn B Mg C)Cu D) Fe
i-llﬁznﬂﬁ- Dipiad's fuSh Fohedds fi
B) Mg C)Cu D)Fe

18 The IUPAC name of NH, - CH, - CHOH - CH, - COOH is
A) 1 —aming - 2 hydroxy butanoic acid
H}E-*hrqruw-l—-nmnhumwjnmid
ﬂ]4-wfmn~3—hﬂuxrwtlnnhm
D)1 =&ming - 3 — hydroxy butyric acid

NH, -CH, -CHOH-C - CD Ea=te
A'ﬁ -ﬂﬂ:'.i'-i Tk %Mmﬁ e
Elﬁ-m-l--ﬂnﬂqﬁﬁ‘nﬂﬁnﬁa

e o
)1 --&#—B-m qﬁﬂﬂ-‘;ﬁﬂ

120 The number of structural isomers for pantane is

| A2 B)3 C)4 DiS
wolfs e o E-mﬁh:."l?rg&
‘ Al }-3 )4 g L5

121 Hnmnrmmmmswmtmmwmmﬂpmmhhmu ......
A) Temperature required for reduction is too high
B) Temperature required for reduction is toe small
) Mora
JA0) Both Aand C

dogbes @A QS orod oY Lrore SofiSal 2orte Littte S wlhkroo T,

A) fubtah oo Dk aBS edito
B) fftdas eiicns elfind o di
C) é Sgdoen S o o

D) AZs8eis C

122.Hm:dﬂrmumriimumﬂﬂuhmrm.1zurb.ﬂ.,.:,, onhe
coloumbs passing through the resistor per second i= ol F-of

12 Viberol 4 D RSt Sdeolt Sogrdo amﬂmﬁwwmhﬁm
i‘;‘ﬁs 8)8 C)a D) 12
WPL SET A =
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Al e
B um“"““"“"“mnmﬂhpﬂﬂﬂm

equivalent ros|stance |y

i AT 0180
1 sty
Aﬁnign EHHDII:IE!MH'E‘ Mwﬁmmm
124 Fﬂhlm D) s
Lhmmuﬂﬂm“ vity difforence betwaen atoms of two
groater acusl
ﬂlﬂl.hlllniﬁ“ i E;lﬂlmn1nrlqu.l1mn.ﬂ
w0l Bogs Sl :
actldoly woom
E“':ﬁME:@;‘ %“ﬁ"ﬂm;‘f - Dy d S8 Loiin
' D)1

125 Farpoint of & person is 5m. The kind of spectacies he should Uss 1N order to have normsal

wESADIN
A) Concave lans with focal length 5m  B) Cancava (onswin focsl length 10 m

C) Convex lens with focal langth 5 m D) Convex lens with focal length 2.5 m

=¥ 8 608 Td, ABGL el Dol 5 L mondt w8h Seordn 4 Fod SEiedd dogl wde
A) S b st e ered doto B) 105 ghudtic M Hesed S6to
C) 535, Tgpste Mo hopod Swls D) 25 & = Gosto Mo Rogrord Boto

126 The incomect statement of the following.

27

A} The least distance of distinct vision al below 10 years age is 7- 8 om

8 The |sast distance of distinct wision in old age is 1 m or even more
C) If angle of vision is above 80* then we can see only the pan of the object

D) Angle of vizion and leasi distanca of distinct vision are same for all persons

[od rRE" e oo

A) 10 don Scrhehy aird =od mﬁmmmh

B) e tol DF tnd Lolbd | & @8 mossd eyt

C) st 600 53 iy a3z Hignfio SR dndried:
D) 4B ns fabds £33 crslothd sobitc ffioth Similo.

The element with negative charge having the electronic configuration 2.8, B is

A) O B) O C) & D) P
2 8, 6 Jogpd Do Mo coargs o= & domeio.

A) O* B) O C) §* D) P
BAC LETA Rl
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132. Three baakers labellod as A, B and C sach - mﬂmmmﬂmﬂ
mm‘m”-c‘-‘sﬂ.lﬂdHﬂlmmmﬁm‘hﬂﬂ.n-m“ﬁ:'
wan observed that there was an increase in the of the solutions Jree
Which one of the fallowing statements (s/are correct?

I In beakers A and B, exotharmic process has cocurred
. lnhﬂmn.hwnmr_ rrod
IV. In beaker C. endothermic process has occurmed,

A) Only | B) Only 1l C) I and IV D) 1t and I

A B, C o £ o domchs begiet 25mi 5o bty NaOH, CuSO, b NaCl osierci &
sosimuot! Sawm A, B, C oot samd A, B bt priad offns 200 C FReR o
ity BoASO! fibodord. & Pob smudt @)

) AB o of I»50 ddg edhde i) AB o' ay g Stf wONSS

i) C €* &g vl cop mbAKR iv) C & eqyr=s drg =ONEE.

A 2msh  B) |l g 0) | fobads W D) i Zo0ato i

433 BaCl, + Na,50, - BaS0, + 2 NaGlrepresants . ...0. ¢
i} Dacomposition reaction

i) Displacemant reaction

ui) Precipitation reaction

iv) Double displacemant reaction _
A) Onty (i) B) (1) & (i) G (1) & () D) Only (iv)
BaCl, + Na,SO, —» Ba50, + 2 NaCl ArDoEs L

i) GAmahis DT IT) B =5 L!:FG-EE

i) st & iv) &R Ee ]

ﬂfﬁhﬁ E]:i'ri.ill s CHiil v D) iv sl

Tne real image formed by @ concave mirror is larger inan the cbject when the object IS
A) at @ distance equal to radius of curvature

B]ﬂadmmmﬂﬂﬁnuﬂhﬂlm

C) At a distance between f and R

D) Both B&C
LEW%H&WE_WW*&&&#@##E&N&@

A‘ Sistnto Hpe oyl Hirdo

B) Siucrdo efosdo Sy St

C) 2 =0, Ziser Bojoro 5y dohils

D}BAC w SoEED.

BT SETA
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& B0t >0 00 weo 0 clorw

(1) book & (il) 358 ol 205
(I} ego e liv) Siots i
A) (1) Sobets () B) (i) sebetn (Hi)
G} (1) 2Bt (iil) D) (i) and (iv)

142 An object of hesght 4 am is kept 8t 8 distance of 30 cm from the pole of & dIvSrging frmor

with focal langth of 10 cm. The height of the image formed is
K)+30em El;urzsn:rn'Ightt Gy« 1.0cm D)+ 0.75 om

10 Sois. gpotite af) wf Halksnn Sm o Dol 90 Doty &edol® 4 ho.dn S 5

SLWh seliind 268 poloon e

A)+30 noks, B)+25 2ol C)+10 mofe  D)+0T5 Tola

143 Two buibs of 100 W and 40 W are connected In saries Tha eurrent through the 100w
bulbis 1 A The cument through tha 40 W bulb will b
A} D4 A B) 06A Ci0BA B 1A

100 Fge Sbatis 40 I'@s g Dok cepe RAC* Sopdo Seds 100 H'E2 oop® 1A
Loyl oo Sobd 40 e cope sl DS podo
A)DAA B) 064 C)0BA D) 14

144 By considenng thewr positien in the Penodc Table, which one of the following elements
would you expect to have mEamum metallic characterisiic?
Al Ga B) Go C)As D) Be

wﬂgdzqﬂﬂu&mwnﬂmgﬂm;mgﬂmﬁfﬁumm
T B
Al Ga B) Ge C)As D) Be

145 Which of the fiald pattemns given balow is valied for
1l Ehu:h:fmﬁmwallnfwm

Bl ol 50 DEgl oy ediud Lol Boload Srdodne Sim?

A) _E._ ) : C) qy m'lrtf ]-PH

mPC SETA =
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n]'l:ﬂn
ot SSPES ] ot seom 0 g il
N Eta B)7 o
i Aas D) 143
Two bulbs 25 W

bulbs B) 100 W bulb
G B Will have equal resistanca n]':u Resistance of buibs can't be compared

148. Three isomers of a compound ({which has some mare isomers) are given as
2.3 - dimethyl pentane, 2, 2 - dimsthy| pentane, & methyl hexane. The compound i
A)CH, BICH, C)CH,, D)CH,
2.3 2oPé Dolls, 2,2, 2234 BodlS 2 npd DA T wdD L8 TE g Sss, et FY
ecd @ P um Jreger,
A)CH, B) CH, C)cCH, DICH,
148 According to the modern periodic law of elements, the variation in propertias of elements
is related to their
A) alomic masses B) nuclear masses
C) atomic numbers B) nuclear neutron-proton number ratio
L8 farol eS8 Sdbdo (Horto ey foy & wodo egrborr THEALD
A) Stim e B) Sose £
C) Stz Song D) Sogs Soqge=S-Phel D8
150, Aconvex lens and a concave lens, each having same focal length of 25 cm, are put in
contact to form a combination of lenses. The power diopters of the combination is
A) 25 B) 50 C) infinite B) zero
25 Do.fn. 15EmS eosto fo P, hogreS SLees #2800 Sigks teed DYEIET o
S48 ibgso =y
A)25 B) 50 C) infinite D) zero
BPC 8ET A M

Scanned by TapScanner



MJPTBCW: MJPTBCW RJC-CET-2023 Key(BiPC)
(Held on 30-04-2023)

MBCDCCDCACBACDADDAMCB
Olm|ct|m|s|w|0|s||o|o|-|al|ols|vivo|xo|lalo
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Q11111111111111111111
MCDCDACBBCDDCBACBADBCCCABBBCCBBDCCAADDCBD
) 10 0 n ) 1n 0
27 |v|eeles2(e(gl5(S]|8]|3(8|8|8|8 8|S = SRS A2|S |2 2|8 |N|K|| /|| S| K|S
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